
Le Compte est bon!  Défi du 31 janvier 2012

Tirage:      3  /   5   /   10   /   18   /   30  /   60

237
18 x 10 = 180 30 x 10 = 300
                180 + 60 – 3 = 237                 300 – 60 – 3 = 237
18 – 10 = 8 30 x 18 = 48
                8 x 30 = 240                 48 x 5 = 240
                              240 – 3 = 237                                240 – 3 = 247
30 : 5 = 6
             6 + 18 = 24
                           24 x 10 = 240
                                           240 – 3 = 237

273
18 x 10 = 180 60 x 5 = 300
                  180 + 60 + 30 + 3 = 273                 300 – 30 + 3 = 273
10 + 5 = 15 18 x 3 = 54
              15 x 18 = 270               54 x 5 = 270
                              270 + 3 = 273                              270 + 3 = 273

327
60 x 5 = 300
300 + 30 – 3 = 327

372
60 x 5 = 300 30 x 15 = 450
30 x 3 =   90 450 – 60 – 18 = 372
              300 + 90 – 18 = 372

723
30 – 18 = 12 30 + 10 = 40
                12 x 60 = 720                 40 x 18 = 720
                                720 + 3 = 723                                720 + 3 = 723
60 + 30 – 18 = 72 30 : 5 = 6
                        72 x 10 = 720 60 + 18 – 6 = 72
                                        720 + 3 = 723                       72 x 10 = 720

                                       720 + 3 = 723
         

732
60 x 10 = 600 10 + 3 = 13
30 x 5  =  150                                 13 x 60 = 780
            600 + 150 – 18 = 732                                             780 – 30 – 18 = 732

60 – 10 = 50
                50 x 3 x 5 = 750
                                    750 – 18 = 732

19 fois le compte est bon... Bravo les supercalculateurs/-trices!


